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2. Study the following data/in Kenya (Qkoth, 1979) and answer the questions below.

Singular  Plural Gloss
alot alode ‘vegetable’
lu6 lude ‘stick’
got gode “hill>
ko6 kode ‘ramn’
guok guogi ‘dog’
lep lepe ‘tongue’
lak lake ‘tooth’
adit adite ‘basket’

(a) List the three allomorphs of the plural morpheme (9%).
(b) List the eight noun roots (16%).

(c) State your reasons and support the claims by stating a formal phonological rule (10%).
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3. Study the following data in Nigeria (Elimelech 1976). Nigeria is a tone language. Note that the tone marker
over the vowel in /3/ refers to a low tone whereas the one in /3/ refers to a high tone, and /6/ means a high-

low (falling) tone.

Underlying Representation

(1) /amé &03/ > ameeba
water father

(2) /amé Oké/ 9 __ameoke
water ram

(3) /amé _Jomd/ > ameomd
water child

Q) /6dzi osmd5/ = 6dziSmd
crab child

(5) /Mte Ssmdh > 5tESmd
cricket child

(a) When two vowels are collapsed during the phonological processing such as [ameéba], which one
stays in the surface representation? State your claim (2%)

(b) During the phonological processing, when-onevowel is deleted, does the tone stay (3%)?

(c) Why does the low tone in a sequence of low-tone syllable become a falling tone? Work on your
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Surface Representation
[améoa]

‘father’s water’
[amoké]

‘aram’s water’
{am5m3]
‘achild’s'water’
[6d33m3]

‘a child’s water’
[3t5md]

‘a child’s cricket’

analysis (10%).
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